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Solved

1. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

2, 4, 6, 8…. .

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_xIRTx1g4ZzSB


Watch Video Solution

2. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

Watch Video Solution

2, , 3, ….
5

2
7
2

3. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

`-10,-6,-2,2….

https://dl.doubtnut.com/l/_xIRTx1g4ZzSB
https://dl.doubtnut.com/l/_pKjdBq32Z0Y7
https://dl.doubtnut.com/l/_L4MaIIEWHTm8


Watch Video Solution

4. Following sequences is in A.P.? If A.P. find the

common difference. 

Watch Video Solution

0.3, 0.33, 0.333, …

5. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

`0,-4,-8,-12,…

Watch Video Solution

https://dl.doubtnut.com/l/_L4MaIIEWHTm8
https://dl.doubtnut.com/l/_EYTPmoL7liKF
https://dl.doubtnut.com/l/_eUMWzTxjnQwn


6. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

Watch Video Solution

− , − , − , …
1

5

1

5

1

5

7. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

Watch Video Solution

3, 3 + √2, 3 + 2√2, 3 + 3√2, ….

https://dl.doubtnut.com/l/_eUMWzTxjnQwn
https://dl.doubtnut.com/l/_E3S4ZCQiLy2Z
https://dl.doubtnut.com/l/_2p1d9IGShqF5


8. Which of the following sequences are A.P.? If

they A.P. find the common difference. 

Watch Video Solution

127, 132, 137, …

9. Write an A.P. whose first term is a and

common difference is d in each of the

following:

a = 10, d = 5

https://dl.doubtnut.com/l/_2p1d9IGShqF5
https://dl.doubtnut.com/l/_tz9lc9cgW3Hp
https://dl.doubtnut.com/l/_Gxb2JnNSw3cU


Watch Video Solution

10. Write an A.P. whose first term is a and

common difference is d in each of the

following:

Watch Video Solution

a = − 3, d = 0

11. Write an A.P. whose first term is a and

common difference is d in each of the

https://dl.doubtnut.com/l/_Gxb2JnNSw3cU
https://dl.doubtnut.com/l/_sLYL2U4G2cAF
https://dl.doubtnut.com/l/_lweAtpYucqzz


following:

Watch Video Solution

a = − 7, d = i. e.0.5
1

2

12. Write an A.P. whose first term is a common

difference is d in each of the following. 

Watch Video Solution

a = − 1.25, d = 3

https://dl.doubtnut.com/l/_lweAtpYucqzz
https://dl.doubtnut.com/l/_ZQbbbYG9QzrZ


13. Write an A.P. whose first term is a and

common difference is d in each of the

following:

Watch Video Solution

a = 6, d = − 3

14. Write an A.P. whose first term is a and

common difference is d in each of the

following:

a = − 19, d = − 4

https://dl.doubtnut.com/l/_wyicAFj199tU
https://dl.doubtnut.com/l/_jHvskz1IMkpH


Watch Video Solution

15. Find the first term and common difference

for the A.P. 

Watch Video Solution

5, 1, − 3, − 7

16. Find the first term and common difference

for the A.P. 

Watch Video Solution

0.6, 0.9, 1.2, 1.5

https://dl.doubtnut.com/l/_jHvskz1IMkpH
https://dl.doubtnut.com/l/_3OHIL6lO18ep
https://dl.doubtnut.com/l/_9h4QheFg9FB4
https://dl.doubtnut.com/l/_icwFKskxpeWl


17. Find the first term and common difference

for the A.P. 

Watch Video Solution

127, 135, 143, 151, …

18. Find the first term and common difference

for the A.P. 

Watch Video Solution

, , ,
1

4

3

4

5

4
7
4

19. Write the correct number in the given

blanks from the following A.P. . 1, 8, 15, 22

https://dl.doubtnut.com/l/_icwFKskxpeWl
https://dl.doubtnut.com/l/_zvQMmxjnwsCt
https://dl.doubtnut.com/l/_yZYAO5jmt3l7


  

, hence 

Watch Video Solution

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

20. Write the correct number in the given

blanks from the following A.P. . 

  

, hence 

Watch Video Solution

3, 6, 9, 12

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

https://dl.doubtnut.com/l/_yZYAO5jmt3l7
https://dl.doubtnut.com/l/_N4vTpE3sw3EM


21. Write the correct number in the given

blanks from the following A.P.

.  

 

, hence 

Watch Video Solution

−3, − 8, − 13, − 18 a = ...

t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

22. Write the correct number in the given

blanks from the following A.P. . 70, 60, 50, 40

https://dl.doubtnut.com/l/_N4vTpE3sw3EM
https://dl.doubtnut.com/l/_k4wTvkInPWD4
https://dl.doubtnut.com/l/_Yxx3yBexblQ9


  

, hence 

Watch Video Solution

a = ... t1 = .... , t2 = .... , t3 = ....

t2 − t1 = .... and t3 − t2 = ....

d = ....

23. Decide whether following sequence is an

A.P.,if so find  term of the progression.

Watch Video Solution

20th

−12, − 5, 2, 9, 16, 23, 30…

https://dl.doubtnut.com/l/_Yxx3yBexblQ9
https://dl.doubtnut.com/l/_RUGmIBshOvAf


24. Find the  term of A.P

Watch Video Solution

25th

12, 16, 20, 24, …. .

25. Find the  term of the following A.P.

Watch Video Solution

19th

7, 13, 19, 25, …

https://dl.doubtnut.com/l/_Gkm19QUmFLFT
https://dl.doubtnut.com/l/_o6LCComZHv3B


26. Find the  term of the following A.P.

Watch Video Solution

27th

9, 4, − 1, − 6, − 11, ….

27. How many three digit natural numbers are

divisible by ?

Watch Video Solution

5

https://dl.doubtnut.com/l/_RXYOokceKWil
https://dl.doubtnut.com/l/_3Hs9Z6RWKy65


28. The 11th term and the 21st term of an A.P

are 16 and 29 respectively,then find the 41st

term of that A.P.

Watch Video Solution

29. Which term of the A.P. 

`11,8,5,2,… is -151?

Watch Video Solution

https://dl.doubtnut.com/l/_0Aab8zU1UChQ
https://dl.doubtnut.com/l/_zJwgFgR4FZEG


30. How many natural numbers from  to 

are divisible by ?

Watch Video Solution

10 250

4

31. In an A.P  term is  more than 

term. Find the common difference?

Watch Video Solution

17th 7 10th

https://dl.doubtnut.com/l/_fJKCLGVvBl6L
https://dl.doubtnut.com/l/_5xuqLTHDwIEt


32. Derive the formula for the nth term of the

sequence of odd natural numbers and even

naturals numbers.The difference between any

two cosecutive odd or even natural numbers is

2, i.e. d=2.

Watch Video Solution

33. Find the sum of the first n natural

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_LmBdsJFb51aK
https://dl.doubtnut.com/l/_FI8ll8MpcX02


34. Find the sum of the first n odd natural

numbers

Watch Video Solution

35. Find the sum of the first n even natural

numbers

Watch Video Solution

https://dl.doubtnut.com/l/_FI8ll8MpcX02
https://dl.doubtnut.com/l/_rMXBrpWp5vgw
https://dl.doubtnut.com/l/_3VSXuEaN4rfs


36. Find the sum of all odd numbers from 1 to

150.

Watch Video Solution

37. The first term of an A.P. is 6 and the

common difference 3. Find S_27= ?

Watch Video Solution

https://dl.doubtnut.com/l/_ddaNKnhQ1ECe
https://dl.doubtnut.com/l/_koLi0XZdYgBI


38. Find the sum of the first 123 even natural

numbers.

Watch Video Solution

39. Find the sum of all even numbers between

1 and 350.

Watch Video Solution

https://dl.doubtnut.com/l/_ngF2TTWMN6hp
https://dl.doubtnut.com/l/_XwVQNS4zXQU8


40. In an A.P. 19th term is 52 and 38th term is

128. Find the sum of first 56 terms.

Watch Video Solution

41. Find the sum of natural numbers from  to

 which are divisible by .

Watch Video Solution

1

140 4

https://dl.doubtnut.com/l/_LqSLI9mQlmsp
https://dl.doubtnut.com/l/_aDMpOPwS1cTN


42. Sum of first  terms in an A.P is . Find

its  term.

Watch Video Solution

55 3300

28th

43. In an A.P sum of three consecutive terms is

 and their product is , find the terms.

(Assume that three consecutive terms in A.P

are ).

Watch Video Solution

27 504

a − d, a, a + d

https://dl.doubtnut.com/l/_ceJxROfY6csn
https://dl.doubtnut.com/l/_5qVVXzR49wcJ
https://dl.doubtnut.com/l/_FHdFXKLTZNmI


44. Find four consecutive terms in an

A.P.whose sum is  and the sum of  and 

 term is . (Assume the four consecutive

terms in A.P are ).

Watch Video Solution

12 3rd

4th 14

a − d, a, a + d, a + 2d

45. If the  term of an A.P is  then show

that the  term is twice the  term.

Watch Video Solution

9th zero

29th 19th

https://dl.doubtnut.com/l/_FHdFXKLTZNmI
https://dl.doubtnut.com/l/_10KY0o60BATl
https://dl.doubtnut.com/l/_bDdFno1g2Pyq


46. On 1st January 2016, Sanika decides to save

,  on second day,  on third day. If

she decides to save like this, then on 31st

December 2016 what would be her total

saving?

Watch Video Solution

₹10 ₹11 ₹12

47. A man borrows  and agrees to repay

with a total interest of  in 12 monthly

installments, each installment being less than

₹8000

₹1360

https://dl.doubtnut.com/l/_bDdFno1g2Pyq
https://dl.doubtnut.com/l/_nXmHhfmvKYmI


the preceding one by . Find the amount of

the first and last installment.

Watch Video Solution

₹40

48. Sachin invested in a national saving

certificate scheme. In the 1st year, he invested

, in 2nd year , in 3rd year 

and so on. Find the total amount he invested

in 12 years.

Watch Video Solution

₹5000 ₹7000 ₹9000

https://dl.doubtnut.com/l/_nXmHhfmvKYmI
https://dl.doubtnut.com/l/_Xd5Jp6dz6gkT
https://dl.doubtnut.com/l/_m2kQLjiXQVdJ


49. There is an auditorium with 27 rows of

seats. There are 20 seats in the first row, 22

seats in the second row, 24 seats in the third

row and so on. Find the number of seats in

15th row and the total seats in the auditorium.

Watch Video Solution

50. Kargil's temperature was recorded for a

week i.e Monday to Saturday. All readings were

in A.P .The sum of temperatures of Monday

and Saturday was  more than the sum of5∘C

https://dl.doubtnut.com/l/_m2kQLjiXQVdJ
https://dl.doubtnut.com/l/_eFfO6IFEXHHE


temperatures of Tuesday and Saturday. If

temperature of Wednesday was , then

find the temperature on the other five days.

Watch Video Solution

−30∘C

51. On the World Environment Day tree

plantation programme was arranged on a land

which is triangular in shape. Trees are planted

such that in the first row there is one tree, in

the second row there are two trees, in the

https://dl.doubtnut.com/l/_eFfO6IFEXHHE
https://dl.doubtnut.com/l/_tfxZPml1LjKG


third row there are three trees and so on.

Then find the total number of trees in  rows.

Watch Video Solution

25

52. Choose the correct alternative answer for

each of the following subquestions: 

The sequences -10,-6,-2,2,…..

A. is an A.P. reason d=-16

B. is an A.P, reason d=4

C. is an A.P, reason d=-4

https://dl.doubtnut.com/l/_tfxZPml1LjKG
https://dl.doubtnut.com/l/_QoVBA0UHFPdO


D. is not an A.P.

Answer:

Watch Video Solution

53. Choose the correct alternative answer for

each of the following subquestions: 

The first four terms of A.P. having the first term

-2 and the common difference -2 are…

Watch Video Solution

https://dl.doubtnut.com/l/_QoVBA0UHFPdO
https://dl.doubtnut.com/l/_3vBxSDDPQgkR
https://dl.doubtnut.com/l/_q6LzAn6oHrUU


54. Choose the correct alternative answer for

each of the following subquestions: 

What is the sum of the first 30 natural

numbers?

A. 464

B. 465

C. 462

D. 461

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_q6LzAn6oHrUU


55. Choose the correct alternative answer for

each of the following subquestions: 

For an A.P. if t_7=4,d=-4, then a=….

A. 6

B. 7

C. 20

D. 28

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_q6LzAn6oHrUU
https://dl.doubtnut.com/l/_GVaauF3iXZyo


56. Choose the correct alternative answer for

each of the following subquestions: 

For an A.P. if a= 3.5, d=0, n=101, then tn=…..

A. 0

B. 3.5

C. 103.5

D. 104.5

Answer:

https://dl.doubtnut.com/l/_GVaauF3iXZyo
https://dl.doubtnut.com/l/_JzaTVd0jzKSF


Watch Video Solution

57. Choose the correct alternative answer for

each of the following subquestions: 

For an A.P. , the first two terms are -3.4 . The

21st term is….

A. -143

B. 143

C. 137

D. 17

https://dl.doubtnut.com/l/_JzaTVd0jzKSF
https://dl.doubtnut.com/l/_fQur4hCD695G


Answer:

Watch Video Solution

58. Choose the correct alternative answer for

each of the following subquestions: 

If for an A.P. d=5, then t_18-t_13=…….

A. 5

B. 20

C. 25

D. 30

https://dl.doubtnut.com/l/_fQur4hCD695G
https://dl.doubtnut.com/l/_hQICj6BWQw1q


Answer:

Watch Video Solution

59. Choose the correct alternative answer for

each of the following subquestions: 

The sum of the first five multiples of 3 is…..

A. 45

B. 55

C. 15

D. 75

https://dl.doubtnut.com/l/_hQICj6BWQw1q
https://dl.doubtnut.com/l/_xUMF0zxb9lJK


Answer:

Watch Video Solution

60. Choose the correct alternative answer for

each of the following subquestions: 

The sum of the first ten terms of the A.P.

15,10,5,…..is….

A. -75

B. -125

C. 75

https://dl.doubtnut.com/l/_xUMF0zxb9lJK
https://dl.doubtnut.com/l/_NOYLXIhYLbHa


D. 125

Answer:

Watch Video Solution

61. Choose the correct alternative answer: 

The first term of an A.P. is  and  term is .

If , then 

A. (a) 42

B. (d) 38

1 nth 20

Sn = 399 n = ?

https://dl.doubtnut.com/l/_NOYLXIhYLbHa
https://dl.doubtnut.com/l/_wFIgICFMZc1f


C. (c) 21

D. (d) 19

Answer:

Watch Video Solution

62. Find the fourth term fro m the end of the

A.P. -11,-8,-5,…..,49.

Watch Video Solution

https://dl.doubtnut.com/l/_wFIgICFMZc1f
https://dl.doubtnut.com/l/_G4Oah61gXvGk


63. In an A.P  term is , sum of  term

and  term is . Find the A.P.

Watch Video Solution

10th 46 5th

7th 52

64. Find the sum of the first ten terms of the

A.P. whose 4th term is-15 and 9 th termis -30.

Watch Video Solution

https://dl.doubtnut.com/l/_RnwOva91GGv1
https://dl.doubtnut.com/l/_aIMRnMt6lIZl


65. Two A.P's are given as  and 

. If  term of both the

progressions are equal then find the value of

 and  term.

Watch Video Solution

9, 7, 5, ….

24, 21, 18, … nth

n nth

66. If sum of  and  term of an A.P is 

and sum of  and  term is , then find

 term.

Watch Video Solution

3rd 8th 7

7th 14th −3

10th

https://dl.doubtnut.com/l/_YwQhBCtU0BAg
https://dl.doubtnut.com/l/_KfRmTxWsOkHi


67. In an A.P, first term is  and last term is 

. If sum of all the numbers in the A.P is ,

then how many terms are there? What is the

common difference?

Watch Video Solution

−5

45 120

68. Sum of  to  natural numbers is . Find

the value of .

Watch Video Solution

1 n 36

n

https://dl.doubtnut.com/l/_KfRmTxWsOkHi
https://dl.doubtnut.com/l/_Hr72vHkHes4c
https://dl.doubtnut.com/l/_umkbrt4lmXGi


69. Divide  in three parts, such that all

parts are in A.P and product of two smaller

parts is .

Watch Video Solution

207

4623

70. There are  terms in an A.P. The sum of

three terms placed exactly at the middle is 

and the sum of last three terms is . Write

the A.P.

Watch Video Solution

37

225

429

https://dl.doubtnut.com/l/_ryOBAabiPnOw
https://dl.doubtnut.com/l/_ZRhoD3a5UpJv


71. If first term of an A.P is , second term is 

and last term is , then show that sum of all

the terms is .

Watch Video Solution

a b

c

(a + c)(b + c − 2a)

2(b − a)

72. If the sum of first  terms of an A.P is equal

to the sum of first  terms, then show that the

sum of its first  terms is . .

Watch Video Solution

p

q

(p + q) zero (p ≠ q)

https://dl.doubtnut.com/l/_ZRhoD3a5UpJv
https://dl.doubtnut.com/l/_TAa8C2EhSq5E
https://dl.doubtnut.com/l/_ClLMazM6tUH8


73. If  times the  term of an A.P is equal

to  times its  term then show that

 term of the A.P is .

Watch Video Solution

m mth

n nth

(m + n)th zero

74.  is invested at  simple interest.

Check at the end of every year if the total

interest amount is in A.P. If this is an A.P then

find interest amount after  years.

Watch Video Solution

₹1000 10%

20

https://dl.doubtnut.com/l/_wqtPToAzvwRU
https://dl.doubtnut.com/l/_5SkdKYuH6F3K


Exercise

1. Solve :

Watch Video Solution

1 + 5 + 9 + …. + x = 1770

2. How many numbers are there from 10 to

300 which when divided by 4 leave the

remainder 3?

Watch Video Solution

https://dl.doubtnut.com/l/_5SkdKYuH6F3K
https://dl.doubtnut.com/l/_Hq1KuRmAGsYH
https://dl.doubtnut.com/l/_3Te1liM7KdKs


3. Choose the correct alternative from those

given below each question: 

What is the sum of first n natural numbers?

A. [n(n-1)]/2

B. [n(n+1)]/2

C. n/2(n-2)

D. [n(n+2)]/2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_7n9i4BQWYM5Q


4. Choose the correct alternative from those

given below each question: 

The first four terms of an A.P. having the first

term -7 and the common difference 3 are .

Watch Video Solution

5. Choose the correct alternative from those

given below each question: 

Which of the following is the sum of the first

10 natural numbers?

https://dl.doubtnut.com/l/_UtHlecsC3T7H
https://dl.doubtnut.com/l/_lZJcHEB6pNMr


A. 11

B. 20

C. 65

D. 55

Answer:

Watch Video Solution

6. Choose the correct alternative from those

given below each question: 

https://dl.doubtnut.com/l/_lZJcHEB6pNMr
https://dl.doubtnut.com/l/_WgC09pLCwCCn


For an A.P. , if t_n =24,n=12,d=2, then what is the

value of a?

A. 2

B. 1

C. 12

D. 24

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WgC09pLCwCCn


7. Choose the correct alternative from those

given below each question: 

What is the 16th term of an A.P. whose first

two terms are 100,105?

A. 195

B. 185

C. 175

D. 165

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_k8zOIRiReRp2


Watch Video Solution

8. Choose the correct alternative from those

given below each question: 

If for an A.P. d=10, what is t_6-t_2?

A. 10

B. 20

C. 30

D. 40

Answer:

https://dl.doubtnut.com/l/_k8zOIRiReRp2
https://dl.doubtnut.com/l/_1oHw6f04mOBn


Watch Video Solution

9. Choose the correct alternative from those

given below each question: 

Which of the following are the terms of an

A.P.?

A. 1 , 3 , 6 , 10 , ….

B. 3 , 6 , 12 , 24 , ….

C. 28 , 26 , 24 , 22,….

D. 4 , 2 , 3 , 1 , ….

https://dl.doubtnut.com/l/_1oHw6f04mOBn
https://dl.doubtnut.com/l/_8xvzhgcZ0Lt0


Answer:

Watch Video Solution

10. Choose the correct alternative from those

given below each question: 

What is the sum of first 10 terms of the A.P.

`15,10,5…?

A. -75

B. -125

C. 75

https://dl.doubtnut.com/l/_8xvzhgcZ0Lt0
https://dl.doubtnut.com/l/_7gja8Y9YkhF9


D. 125

Answer:

Watch Video Solution

11. Choose the correct alternative from those

given below each question: 

For an A.P. if a=2 and d= 2.5 the which is the

seventh term?

A. 17

https://dl.doubtnut.com/l/_7gja8Y9YkhF9
https://dl.doubtnut.com/l/_tNxRPbcKTpsk


B. 15

C. 13

D. 11

Answer:

Watch Video Solution

12. Choose the correct alternative: 

For an A.P., .

What is the value of ?

t1 = 2, tn = 41 and Sn = 860

n

https://dl.doubtnut.com/l/_tNxRPbcKTpsk
https://dl.doubtnut.com/l/_7juuQruCyNfm


A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer:

Watch Video Solution

31

30

41

40

13. Choose the correct alternative from those

given below each question: 

For an A.P. if a=3,d=5, what is the value of t_11?

https://dl.doubtnut.com/l/_7juuQruCyNfm
https://dl.doubtnut.com/l/_wBto2FnCPiX4


A. 53

B. 58

C. 85

D. 35

Answer:

Watch Video Solution

14. Choose the correct alternative from those

given below each question: 

https://dl.doubtnut.com/l/_wBto2FnCPiX4
https://dl.doubtnut.com/l/_pr1MvS9qwRU9


For an A.P. a=1 and d=4. What is the value of n ,

if t_n=81?

A. 22

B. 21

C. 20

D. 19

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_pr1MvS9qwRU9


15. Choose the correct alternative from those

given below each question: 

Which of the following sequences are in A.P.? 

(i)1,3,6,10…

(ii)3,8,13,18,….

(iii)7,4,1,-2,…

(iv)-10,13,-16,19,…

A. (i) and ii

B. ii and iii

C. iii and iv

https://dl.doubtnut.com/l/_flXZmrQK0ltB


D. iv and i

Answer:

Watch Video Solution

16. Choose the correct alternative from those

given below each question: 

What is the common difference (d) of the A.P.

A. -4

2, − 2, − 6, − 10…?

https://dl.doubtnut.com/l/_flXZmrQK0ltB
https://dl.doubtnut.com/l/_llZy8WvpKUNN


B. 2

C. -2

D. 4

Answer:

Watch Video Solution

17. Choose the correct alternative: 

The first term of an A.P. is  and  term is .

If , then 

1 nth 25

Sn = 520 n = ….

https://dl.doubtnut.com/l/_llZy8WvpKUNN
https://dl.doubtnut.com/l/_HaStUW5j6c43


A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer:

Watch Video Solution

45

30

50

40

18. Find the first terem of the sequence:

tn = 3n + 1

https://dl.doubtnut.com/l/_HaStUW5j6c43
https://dl.doubtnut.com/l/_ijw92I8RjP3W


Watch Video Solution

19. Find the first terem of the sequence:

Watch Video Solution

tn − 1
1

n2

20. Find the first terem of the sequence:

Watch Video Solution

tn = 4n − 3

https://dl.doubtnut.com/l/_ijw92I8RjP3W
https://dl.doubtnut.com/l/_NmKQlamMMu33
https://dl.doubtnut.com/l/_wyhKvNPfcCoS


21. Write the next two terms of an A.P. , if a=11

and d=2.

Watch Video Solution

22. Find the second and third terms of an A.P.

whose first term is -2 and yhe common

difference is -2.

Watch Video Solution

https://dl.doubtnut.com/l/_U2eLfp0NhqJq
https://dl.doubtnut.com/l/_3spZUw6Qan29


23. Find S_3 for the A.P. 

Watch Video Solution

3, 5, 7, 9, ….

24. What is the 6th term of the sequence

`3,5,8,12,17?

Watch Video Solution

25. For the given A.P. write the values of a and

d. 

https://dl.doubtnut.com/l/_fRuy3YIBUgNP
https://dl.doubtnut.com/l/_xuISjYbMYtMW
https://dl.doubtnut.com/l/_yTzrRN7AIxP9


Watch Video Solution

400, 360, 320, …

26. For the given A.P. write the values of a and

d. 

Watch Video Solution

5, 12, 19, ….

27. For the given A.P. write the values of a and

d. 

https://dl.doubtnut.com/l/_yTzrRN7AIxP9
https://dl.doubtnut.com/l/_zVhCqqjNqAJg
https://dl.doubtnut.com/l/_NoBgzTb4mkqd


`2,-2,-6,….

Watch Video Solution

28. Write the 2nd and 3rd terms of the A.P., if 

Watch Video Solution

a = 10, d = 5

29. Write the 2nd and 3rd terms of the A.P., if 

Watch Video Solution

a = − 12, d = − 4

https://dl.doubtnut.com/l/_NoBgzTb4mkqd
https://dl.doubtnut.com/l/_J1nfO6jDRH9b
https://dl.doubtnut.com/l/_dee9hgDxMNUq


30. If for an A.P., d=20, what is the value of t_6-

t_2?

Watch Video Solution

31. What is the value of d for an A.P., if t_3=12

and t_7=36?

Watch Video Solution

https://dl.doubtnut.com/l/_dee9hgDxMNUq
https://dl.doubtnut.com/l/_Y2NEOe9ZyuzZ
https://dl.doubtnut.com/l/_lup7MylZVe8T


32. If for an A.P, the 1st term is 2 and the 10th

term is 48, then what is the sum of the first 10

terms?

Watch Video Solution

33. For an A.P. 8 th term is 17. Write an

equation relating a and d.

Watch Video Solution

https://dl.doubtnut.com/l/_93Y5CdSSHqQ4
https://dl.doubtnut.com/l/_28LxW1OMpQ01


34. Write the two missing terms of the A.P.,

Watch Video Solution

12, 19, 26, ……, 40, …

35. Which of the following sequence are A.P.?

Watch Video Solution

1, 3, 6, 10, ….

https://dl.doubtnut.com/l/_d0w0vo8zW2UM
https://dl.doubtnut.com/l/_R0LgwkOmHe6t


36. Which of the following sequence are A.P.?

Watch Video Solution

1, 4, 7, 10, …

37. Which of the following sequence are A.P.?

Watch Video Solution

22, 26, 28, 31, …

https://dl.doubtnut.com/l/_83JeY9GVZhBr
https://dl.doubtnut.com/l/_bzYv03t6EMsM


38. Which of the following sequence are A.P.?

Watch Video Solution

−10, − 13, − 16, − 19, …

39. The nth term of the A.P.`3,8,13,18,… is 148.

Find n.

Watch Video Solution

https://dl.doubtnut.com/l/_r4JqE9GIyxmx
https://dl.doubtnut.com/l/_wUrpTtTYu8Ai


40. Write the next four terms of the A.P.

Watch Video Solution

2, 5, 8, 11, …

41. The first term and the common difference

of an A.P. are  and  respectively. If ,

find .

Watch Video Solution

12 4 tn = 96

n

https://dl.doubtnut.com/l/_36TcfTi3imaJ
https://dl.doubtnut.com/l/_KP0eVQwqCFq1


42. The first term of an A.P is  and the 

term is  Find .

Watch Video Solution

−3 10th

15 S10

43. For an A.P. if  and , find 

.

Watch Video Solution

S10 = 150 S9 = 126

t10

https://dl.doubtnut.com/l/_22a8q2BuPLAt
https://dl.doubtnut.com/l/_xdcz1gkA36w2


44. Find the 23rd term of the A.P,

Watch Video Solution

9, 4, − 1, − 6, …

45. Find the common difference of the A.P. if

 and .

Watch Video Solution

a = 100 t20 = 176

46. Find  for the A.P, t12 12, 9, 6, …

https://dl.doubtnut.com/l/_lG5bJ4J9lq2A
https://dl.doubtnut.com/l/_6trfUnV81P3P
https://dl.doubtnut.com/l/_UxqtiS0CUQLf


Watch Video Solution

47. There are 25 rows of seats in an

auditorium. The 1st row is of 20 seats , the 2nd

row of 22 seats , the 3rd row of 24 seats and

so on. How many seats are there in the 21st

row ?

Watch Video Solution

https://dl.doubtnut.com/l/_UxqtiS0CUQLf
https://dl.doubtnut.com/l/_LKzIVKLEYsqq


48. Find the sum of the first 100 natural

numbers.

Watch Video Solution

49. Find the sum of the first 50 even natural

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_CGYBUSYkW1eH
https://dl.doubtnut.com/l/_tSU8jOOaJTyk


50. Find the sum of the first 25 odd natural

numbers.

Watch Video Solution

51. For an A.P,  and . Find

the value of .

Watch Video Solution

t6 = − 10 t14 = − 34

t10

https://dl.doubtnut.com/l/_dKF1VbDcNYqw
https://dl.doubtnut.com/l/_JMuHZRlU74fS


52. For an A.P, a=25 and t_20=500 . Find the

common difference d.

Watch Video Solution

53. How many two digit numbers are divisible

by 4?

Watch Video Solution

https://dl.doubtnut.com/l/_fRSghup9W888
https://dl.doubtnut.com/l/_VfUtbWaLRRO2


54. The first term of an A.P. is 5 and the

common differences is 4. Complete the

following activity to find the sum of first 12

terms of the A.P.

Watch Video Solution

55. Find the sum of first 1000 positive integers.

Watch Video Solution

https://dl.doubtnut.com/l/_87lWsOxAO6wa
https://dl.doubtnut.com/l/_q3dwRrvf2OVY


56. Which term of the A.P.  is 

Watch Video Solution

3, 11, 19, 27, …

547?

57. How many two -digit numbers are there

divisible by 3?

Watch Video Solution

58. Find  for the A.P. tn 3, 8, 13, 18, …

https://dl.doubtnut.com/l/_BURwl1U7uEh5
https://dl.doubtnut.com/l/_aNvDtnLoaq3k
https://dl.doubtnut.com/l/_TvCKAUvfYzAN


Watch Video Solution

59. Is the sequence -10,-4,2,8,… an A.P.? Find the

31st term,if it is an A.P.

Watch Video Solution

60. Find the value of  for the A.P. 

Watch Video Solution

t7 + t9

7, 13, 19, 25, ...

https://dl.doubtnut.com/l/_TvCKAUvfYzAN
https://dl.doubtnut.com/l/_38DpD6IKf3BI
https://dl.doubtnut.com/l/_ECctUychf9FD
https://dl.doubtnut.com/l/_dGzcwQhm35e4


61. Which term of the A.P.  Is

the number 

Watch Video Solution

50, 40, 30, 20, ….

−940?

62. Find S_15, if for an A.P. a=10 and d=3.

Watch Video Solution

63. Find S_10, for an A.P. 0,1/6,1/3,….`

Watch Video Solution

https://dl.doubtnut.com/l/_dGzcwQhm35e4
https://dl.doubtnut.com/l/_qB60hjo0j2S0
https://dl.doubtnut.com/l/_dSgV6KkOtm4N


64. The sum of the 3rd and 7th terms of an A.P.

is 6 and their product is 8. Find the 1st term (a)

and the common difference (d) of the A.P.

Watch Video Solution

65. Find the sum of all natural numbers

between 1 and 145 which are divisible by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_dSgV6KkOtm4N
https://dl.doubtnut.com/l/_CKd9pXjKuWng
https://dl.doubtnut.com/l/_d0unte2TXRjU
https://dl.doubtnut.com/l/_RqV8E4ajv97W


66. Find , if the first term of an A.P. is  and

the common difference .

Watch Video Solution

S30 10

5

67. Sachin invested some amount in National

Savings certificates in a specific way. In the first

year, he invested Rs 4000, in the second year

Rs 6000, in the third year Rs 8000 and so on

for 12 years . Find the total amount he

invested in 12 years.

Watch Video Solution

https://dl.doubtnut.com/l/_RqV8E4ajv97W
https://dl.doubtnut.com/l/_HdBcHyfZg93m


68. Find the sum of the first 100 terms of the

A.P. 

Watch Video Solution

12, 14, 16, 18, ….

69. Open ended question :

Write an A.P. in which a=10 and d is any

positive number. Find S_10 of this A.P. can -80

be a term in thi A.P.? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_HdBcHyfZg93m
https://dl.doubtnut.com/l/_gqeyug6aIhei
https://dl.doubtnut.com/l/_BkPewmHl0Wmm


70. Amit saves certain amount every month in

a specific way in the first month he saves Rs

200, in the second month Rs 250, in the third

month Rs 300 and so. On. How much will be

his savings in 17 months?

Watch Video Solution

71. If the 9th and 21st terms of an A.P. are 75

and 183 respectively, find its 81st term.

Watch Video Solution

https://dl.doubtnut.com/l/_a0ELFJ4O6tl4
https://dl.doubtnut.com/l/_EqCqzA75Xi4Y


72. Find the sum of even numbers between 1

to 300.

Watch Video Solution

73. The sum of 45 terms of an A.P. is 3195. Find

its 23rd term.

Watch Video Solution

https://dl.doubtnut.com/l/_EqCqzA75Xi4Y
https://dl.doubtnut.com/l/_HnS8jahbrUgg
https://dl.doubtnut.com/l/_VmUPVk0hwEDz


74. The sum of three consecutive terms of an

A.P. is 30 and their product is 360. Find the

terms.

Watch Video Solution

75. The sum of four consecutive terms of an

A.P. is 2. The sum of the 3rd and 4th terms is 11.

Find the terms.

Watch Video Solution

https://dl.doubtnut.com/l/_NkttoGVYEpvH
https://dl.doubtnut.com/l/_YvihLVtX4RwN
https://dl.doubtnut.com/l/_Ep7JYFwsa7JL


76. One person borrows Rs 4000 and agrees to

repay with a total interest of Rs 500 in 10

instalments. Each instalment is less than the

preceding instalment by Rs 10 . What would be

the first and last instalments?

Watch Video Solution

https://dl.doubtnut.com/l/_Ep7JYFwsa7JL

